ALol= oA 5km ol stalo]] 7H= g Al4 4km 2 A7) A4
16km 9] &2 o2 FHch A dol7t 30 Eitof stwof T2FgictH
o]zt FHAZE A2

Oom @ Jkm @O%m @ @)

~&B

Holzk A2lS dan , Hol7t A2 S ykm 21 5

{x_l_y:5 ...@

x oy 1

171672 ©
Ox16 =0t dx+y=8------ ©
®-025tH3x=3

Sap=1

x=12 @0 edstel y =4
webA] A<dol7} Felzk Azl dkm oIk,




1017} 3000m 91 34 FYE 3} FAYo] 2 Aol A
drsto] e Higko g2 ﬁfﬂ 30 2%

HH 10 B o thA] ghdotar gict, o)
o, o] FAHEG o w27 "ot gic})

® 100m ®@ 150m (@)200111 @ 250m ® 300m

=
o
N
)
r

ol 7H= A2E xm, B4l 1 2 5

22 0S4 (F Al " AR e 2h=(=24 29| Zo)),
Hid o= HE (F ARl E 7129 fh)=(25 =29 4

10x + 10y = 3000 X4y =300
sox=200(m) , y = 100(m)

{30x—30y=3000 {x—yleO
=




